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1)

Answer any five questions only.

TGS 215G SIS (658 flenL sl SayLD.

the end of the answer books will not be valued.

(2) | Candidates are allowed the option to answer | GSifeurarisear — sUlflGor () oy mEwESIcom
the paper either in English or in Tamil or even | geang Qs  sG6sT — oflolweallss
to answer the paper partly in English and | osyudlésiu Glerersg).
partly in Tamil.

(3) | Answers to whole questions in excess of the | GCSenauLmsT TEOIT6TRT 1605 55 lenSsInTS
prescribed number of questions appearing at | oflml_Glugggns U ESE) Qs AmsiwiTer

oflenL_ssifled senr Swmsaipeny wSIIIE Gl
LT LTS

Answer should be brief and to the point and
need not be a verbatim reproduction of printed

oflenL_ssir SG@r&aownsans Gaamalse 2 Musrsan
Bl35560 eaudiui.

pages.
(5) | Marks will be deducted for bad handwriting/ | Gurswrser — &ClulsSSNGw /v dflpgL
bad presentation. LOSIIGILISTIT 61T (&560mESLLBILL.
Marks
1. Write short notes on the following:
a. Superannuation Pension. 5
b. Voluntary Retirement. 5
c. Forfeiture of service on resignation. 5
d. Lapse of death cum retirement Gratuity. 5
Slaea_ainsmm ailarsEs.
a. ussflpdliay ey .
b. efl@mlu sy,
c. prsdlemmomenel L& @D 2 flemn.
d. @iy oy e Shiul uefls6smamullsT & mnsssT.
2. Define different kinds of deductions which may be made from wages. 20

glouetsdle @\mEg gsaliu@min usGay iy SsnisemearTl Lnl alleufsgaiL.

3. Procedure for imposing major penalties under Disciplinary and Appeal

Regulations.

20

IflsUls serLsnar aHUUgT LDl RUBIGWsY wHnID Guspmpui®

aflSlserflsd sTeueumm elleufl& SO (DsTaTSl.

4. Define the following:
a. Bigamous marriage.
Strikes.

b
c. Canvassing of non-official or other outside influence.
d. Obtaining NOC before applying passport or undertaking any Foreign Trips.
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SlpserLsunenm afleufl&saii.

a. @Imsrr $lmevorid.

b. Geusmev HlmissL.

c. Ieiesd sy gyl gjseug wom Qeualim CFmaTs .

d. Geueflpm () uwemrmisst GunGsmTagng wer sLass G (Passport)
IIVGI 6THS L CaLsment @lsosur smarils GUmies) Shobe0ors.

. Explain about the salient features of new contributory pension scheme.
gy utisafliy suiinpdiu SI-LSems un GO elemrs.

Explain in detail about the incidental expenses on journey or tour under T.A.
Regulation.
p5HI6wrs yial Lwersdle sEdHurar @lolblsns Gemwaser um
N6 5 (G5

. Explain about constitution of State Information Commission under RTI.
s&aI  lyn o flmws sLLEHST S Ieens womd  Gosme
BluksememsemarLl LN a5l6msEs.

Calculate the Retirement Pension DCRG, capitalized value and family pension

of an Executive Engineer retired on superannuation on 31.07.2014 A.N having
the following record:

a. | Date of Birth 11 01.08.1956.

b. | Date of First Appointment 11 23.04.1980.

c. | LLP with MC :| 4 months

d. | Promoted from S.G AEE (15700 — 39100 + GP 6100)-to the post of

Executive Engineer in the time scale of pay 15700-39100+GP 7000
and joined duty on 31.03.2014 A.N. pay drawn as on 01.07.2013

Rs.55830+6100.

e. | Opted for fixation of pay on the date of accrual of increment in the
lower post.

f. | Normal date of Increment . | 1° July every year.

g. | Retired on Superannuation 31.07.2014.

sl usssfliuSleysafledl g 31. 07 20143{@@] Li6ouf] ng‘;]rrsueml_gjgj @msu
GQupm  CEwnGurPursTt  Sieisfler  pippun, ooy wLHND ey
usfl&GlsmmL, Cam@ly e wonh GELL RULSILSms SalsSh
Gleiis.

a. | Noss Cos) :101.08.1956.

b. | usteflulley Garise mmeT 1| 23.04.1980.

. | HSGINISTETIISLHL 6T :| 4 urEmSsT
glousTiilsvaurs ell(hiiy

d. | Geiey flemev 2 saill QewnGuriursT (15700 — 39100 + GP 6100)
ugallfledlmng  QewpGurdursti 2 sl 2 wie Gubm GCsd
31.03.2014 dlu (swust efflgn cp.15700 — 39100 + GP 7000)
01.07.2013-6v LbusTd summisliug) ¢m.55830 + GP 6100.

e. | Spusell LISy sbust o wie] CaHulls usell o iwfey Fbuemd
QUTYISSISNE eflHIuLD @g;rﬂ@ﬂggjmmmr

f. | supLp gy slusT o wiin) CEHS) | ;| elGleurm sfamev LITSLD (&6
Gopd
g. | usmeflpdliay gemLBs mHreT :1 31.07.2014,
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